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27.B A" X 4 & Fk (HbsAQ) © -(i41)  |28.B A5+ 4 & #u48 (HbsAD) : +(151+)
29.5f 2 (CREA) : 0.5~0.9(%) ; 0.7~1.2(9 )mg/dl ; & 3:3% 8 jm & (eGFR) @ >60 mL/min/1.73m?
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& ¢ % (Hb) : 13.5<Hb=17.0 g/idl ; ¢ = 2 (WBC) : 34=WBC=9.1 K/cmm =3
% % (RBC) : 426<RBC=556 M/cmm ; i ] # (PLT) : 138=<PL =353 K/cmm
o m IR % (Het) : 39.1<Hct=48.9 % ; T4 3k FH(MCV): 826=MCV=974 fl 3
30. N
& ¢ % (Hb) : 11.6=Hb=14.8 g/dl; % % 3 (WBC) : 32<WBC=92  K/cmm e
i % % (RBC) : 3.72=<RBC=4.93 M/cmm ; i - # (PLT) : 151 <PL <366 K/cmm %
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, N . 32 5% 5 © GOT : 10~35(+) ; 10~50(¥7 )U/L ;
31.%, "% F A% (CHOL) : <200mg/dl
FEP( )< g GPT : 10~35(+) ; 10~50(F )U/L
33.5 #(AC) : 60~100 mg/dl |34. % & (Uric Acid) : 2.4~57(+) ; 3.4~7(7) mg/dl
35.=2 fH W fa(TG) : <150 mg/dl|36.% % & "5 -9 "£ % fE(HDL) : >50(+) : >40(% )mg/d|




